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MENTAL ABILITY 
1. 6, 9, 18, 45, ? 
 (A) 200 (B) 150 
 (C) 125 (D) 135 
2. _ a b _ b c _ c _ d _ e 
 (A) a c b c d (B) a b d c d  
 (C) a b c e d (D) a b c d d 
3. New York : United States : : Lisbon : ? 
 (A) Germany (B) U.K. 
 (C) Japan (D) Portugal 
4. If the ‘cook’ is called ‘butler’, ‘butler’ is called ‘manager’, ‘manager’ is called ‘teacher’, 

‘teacher’ is called ‘clerk’ and ‘clerk’ is called ‘principal’; who will teach in the class? 
 (A) Cook (B) Butler 
 (C) Manager (D)  Clerk 
5. P is to the South-West of Q; R is to the East of P and South-East of Q. T is to the North of R 

in line with PQ. In which direction of Q is T located? 
 (A) North (B) East 
 (C) South-East (D) North-East 

6.  

 (A)  (B)  

 (C)  (D)  
7. Find the number of triangles in the below given figure : 

  
 (A) 18 (B) 16 
 (C) 14 (D) 12 
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MATHEMATICS 

8. The property involved in 

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 (A) Closure property (B) Associative property 
 (C) Distributive property (D) Commutative property 
9. If 3(2 – x) = 4(5x + 6) + 9(3x – 4) + 6, then the value of x is 

 (A) 
49
12  (B) 

50
12  

 (C) 
49
12  (D) 

50
12  

10. The value of 254488130214   is 

 (A)  14 (B) 17 
 (C) 16 (D) 15  

11. If 
3
8

75
1425





QP
QP , then P : Q is 

 (A)  3 : 5 (B)  2 : 5 
 (C) 2 : 3 (D)  5 : 4 

12. The value of 3 63 6 125125 aa   is 
 (A) 120 a2 (B) 100 a2 
 (C) 100 a (D) -125 a2 

13. Adjacent angles of a parallelogram are in the ratio of 2 : 7, their values will be 
 (A)  200, 1600 (B) 300, 1500 
 (C) 400, 1400 (D)  600, 1200 

14. Find the median of the values : 37, 31, 42, 43, 46, 25, 39, 45, 32 
 (A) 31 (B) 37 
 (C) 39 (D) 45 

PHYSICS 
15. If a force of 250 N acts on a body, the momentum required is 125 kg ms –1. The period for 

which the force acts on the body is 
 (A) 0.1 s (B) 0.3 s  
 (C) 0.5 s (D) 0.2 s 
16. A person, pressing his ear on the railway tracks can hear an approaching train. This is 

possible due to 
 (A) vibration of railway tracks (B) vibration of air 
 (C) more speed of sound in solid medium (D) hearing ability of the man 
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17. Which of the following shows a pleasant sound? 

 (A)  (B)  

 (C)  (D)  
18. Electolysis of a solution of sodium chloride produces 
 (A) Hydrogen gas at anode and chlorine at cathode 
 (B) Hydrogen gas at cathode and chlorine at anode and sodium hydroxide 
 (C) Hydrogen gas at anode and sodium hydroxide at cathode 
 (D) Chlorine gas at anode and sodium hydroxide at cathode 
19. If the normal reaction force is doubled, the coefficient of friction is : 
 (A) Doubled (B) Halved 
 (C) Not change (D) Tripled 
20. Three blocks of masses m1, m2 and m3 are connected by a massless string as shown in figure 

on a frictionless table. They are pulled with a force T3 = 40 N. If m1 = 10 kg, m2 = 6 kg and 
m3 = 4 kg, then tension T2 will be 

 
 (A) 10 N (B) 20 N 
 (C) 32 N (D) 40 N  
21. The surface area of the base of a brick X is 100 cm2. The surface area of the base of the brick 

Y is 250 cm2. Each brick weighs 100 N. Which of the following is correct if P1 and P2 are the 
pressures exerted by the brick X and Y respectively?  

 (A) P1 = P2 (B) P1 > P2 
 (C) P1 < P2 (D) P1 = P2 = 0 
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CHEMISTRY 
22. Which of the following is the gaseous product obtained in roasting? 
 (A) SO2 (B)  O2 
 (C) SO3 (D) H2S  
23. Which of the following ore do not undergo calcination  
 (A) Calamine (B) Magnesite 
 (C) Limestone (D) Haematite 
24. A non-metal used to preserve food material is 
 (A) Carbon (B) Phosphorous 
 (C) Sulphur (D)  Nitrogen 
25. The arrangement for Copper, Tin, Lead and Mercury, according to the reactivity series is : 
 (A) Tin > Lead > Copper > Mercury (B) Lead > Copper > Mercury > Tin 
 (C) Copper > Mercury > Tin > Lead (D) Mercury > Tin > Lead > Copper 
26. The fibre made up by the chemical treatment of wood pulp is 
 (A) Rayon (B) Nylon 
 (C) Polyester (D) None of these 
27. Polymers are made up of small units called 
 (A) Layers (B) Molecules 
 (C) Cells (D) Monomers  
28. Melamine is  
 (A) Thermoplastic polymer (B) Thermosetting polymer 
 (C) Fibre (D) Elastomer  
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BIOLOGY 

29. Name the main cereal crop grown in India – 
 (A) Rice & wheat (B) Rice and maize 
 (C) Wheat & maize (D) Maize & ragi 
30. The harvesting months for Kharif crop is – 
 (A) June / July (B) August / September 
 (C) September / October (D) November / December 
31. Viruses are – 
 (A) Eukaryotes (B) Prokaryotes 
 (C) Microbes (D)  Protozoans 
32. What is mosquirix? 
 (A) an antibiotic (B) a vaccine 
 (C) an antibody (D) a medicated oil 
33. The organization, which maintains Red Data Book, is 
 (A) IUCN (B) WWF 
 (C) UNESCO (D) MEF 
34. Nucleus was discovered by 
 (A) Robert Hooke (B) Robert Brown 
 (C) Robert Koch (D) Robert Clive 
35. Which of the following cell organelles store proteins and fats? 
 (A) Chloroplast (B) Chromoplast 
 (C) Leucoplast (D) Cytoplast 
 
 


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